
A

1

4

3

5

2

CORNER CLAMP
8 FURNISHED WITH EACH BASE

HOLD DOWN CLAMP
4 FURNISHED WITH EACH BASE

8

7

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 CRB.31-4.5-Z 5/16-18 UNC X 4.5 LG CARRIAGE BOLT 8

2 HHN.31 5/16-18 UNC HEX HEAD NUT 8

3 MGS-CLAMP-ID MGS INSIDE CORNER CLAMP 8

4 MGS-CLAMP-OD MGS INSIDE CORNER CLAMP 8

5 WSR.32-.75 5/16" STD WASHER-.75" OD 8

6 MG-26 MODULAR GROUND SLEEVE 8
    

7 C-CLAMP C-CLAMP 4

8 HHB.38-1 3/8-16 UNC X 1" LG HEX HD BOLT 4

JESSE GUTTING
DIMENSIONS ARE IN INCHES

TOLERANCES:
FRACTIONAL:  1/8"

ANGULAR:  2

DATE: SHEET 1 OF 1
WEIGHT: 1010 NORTH STAR DRIVE

P.O. BOX 69
ZUMBROTA, MN 55992-0069

DRAWN BY:

CONTACT INFORMATION:
EMAIL: INFO@CONCASTINC.COM

PHONE: (507) 732-4095
FAX: (507) 732-4094

DESCRIPTION:

PART NUMBER:

2/15/2019

MGS-H

REVISION LEVEL: 0
MATERIAL:

NOTED6 LBS.

MODULAR GROUND SLEEVE CORNER HARDWARE


	Sheet1
	Drawing View1
	Drawing View3
	Detail View A (1 : 5)
	Drawing View5


